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N. K% i@ % 2% B I i
1585 B KJM. RC %| 5 |1000 32438 A
2| KF0HE 28§ KRC Jr | 6 |100 1432| B
3/ BEMA Fily RUN. jp | 5 [100 1452 B
4 9% # RUN. jp %] 5 [100 1456 B
580 =i RUN. jp %] 6 [100 12.74] A
636 F+or/NEZE|RUN. jp Z| 6 [100 13.44] A
EENE RUN. jp %] 6 [100 13.64] A
8|HEH BE RUN. jp %] 6 [100 13.69] A
9|FR TEE RUN. jp | 6 |100 13.98) A |[80H:A.HJ:A
1059k ®ZE RUN. jp %] 6 [100 1407| B
11[#% FHER RUN. jp %] 6 [100 1409] B
INEEES RUN. jp %] 6 [100 1421] B
13|Ea@ FiJy RUN. jp | 5 |1000 3.1966] A |[FxLUTHhyT1hL:A
14/ NE XZ RUN. jp %Z| 5 [1000 32831 B |[F¥LrPHhvyT44i:B
15|58 =5 RUN. jp %] 5 |80H 15.27| B
16| 0tHEA HEE RUNRUN %| 6 |600 14881 A |FyL2ThyT26i
17|% £ £ YYKSC | 5 |600 15651 B |[FrwL2TPhyTI76i:B
18110 ZE A& AREAT.C Z| 6 |LJ 431 B
19| B TR FE Kmo57 %| 5 |80H 1480 A
20| B[ £33 Kmo>7 %] 6 [80H 1425 B
21| flk 2 Kmo57 %| 6 |80H 1429] B
22| {FiE HBiZk K> %Z| 6 |JBT 4450] B
23| A ISHEE AERAE %Z| 5 |HJ 120 A
24K [5E BEER Z| 6 [1000 3.17.09] B
258K EF REEHY1=T | 6 |100 1431] B
26 =L HA LoCldeEESST [ & 5 [100 13.76] A |HJ:B
21 B LollEEREESST | &| 5 [100 1476] B
28/ /MbR IDE LolIFEEEESST [&| 6 [100 13.72] A [80H:A
2| HE FHFE LolIFEEESST [&| 6 [100 13.80] A
30ithH 3EF LoClldeEESST [ & 6 [100 13.89] A
31|15 & LolIFEEEESST [&| 6 [100 1391 A
R2\HFE Z LoClldeEESST [ & 6 [100 1434 B [1000m:B
B HE FTEFE LolIEEREESST | &| 6 [100 1438) B
(e BE LolIEEEESST [&| 5 1000 329.72] B [FrxL2PHhyI5fu:B
35|28 #H1E LolIEEREESST |[&| 6 [80H 1391 A |HJ:B
36| B LolldeEESST [ &| 5 [HJ 1.15] B
3| =%E BE mo57 % | 5 [1000 32382 A |[FxLUTHYT3Mi:A
8| FE = ThHE¥vXAC %] 5 [100 1414] A |HJ:B
39 8 [HxE THFvXAC | 5 |100 1466] B
40| lUF ERKL EHERY1=T %] 5 |LJ 397] B
M\ FL B INE—=AC %| 5 [100 1469] B
421N ER INUE—=AC %] 5 [1000 3.19.87] A
43/1L0O B BEipEEE | 5 |LJ 364| B |EERBREWELGEEERED)
441 7fN B H 274K | 6 [100 1402] A [1000m:B
45|H EAH 74 M %] 6 [600 14947 A |FyxL2ThyT34i
46//\)) EE 74K %| 6 |600 1.50.15| B |FrL2TPhyT6fi
47 BlE (53 7RI | 6 |1000 3.1463] A
48| R BIFK 274K | 6 [1000 3.15.07| B
49 IR I T7 AR %] 6 [1000 3.16.84| B
50/{8l =LA fEREL %| 5 |1000 32203 A
51| HA #FE HEEAC | 5 |100 1473 B
528K EHR HEDOIVAZT %| 6 [1000 31797 B |FxLIPHhyT4hi:B
530 & HEDIDAZT Z| 6 |1000 3.1827| B |FxLTHyTI1Hi:B
54| KK #E8H REEATEESE %] 6 |100 13.78] A
55 /R EKE EEamELHE %[ 5 |1000 329.29| B
56| {Fik FOI= TR %] 6 |LJ 465 A
57\=4 T8 =/H57 | 6 |100 14.36] B
58| EA1R & TR EERL %] 5 [100 1474] B
59 He TEH AR EFR | 6 [100 1443] B
60|/ EE TR EERL %] 5 [1000 3.27.16] B |[FxL2PHhyT8hi:B
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61870 =i EH557 %| 6 [80H 1359] A

625" #ETE FEDaZ7EESST & 5 100 1471] B

63|1EAfE £# EECAZF7ELESST & 5 100 14.76| B

64| XE UVFY FEDaZ7EESST & 5 100 1462] B

65 1A £# EECAZT7ELESST || 5 600 1.5057] A |[FyL2ThyT26i:A
66| 5FH o FEDCaZ7EESST & 6 600 1.51.16] B |FyxL2TPhyT8fi
67| XE UVFEY EECaAZT7ELESST %] 5 |80H 13.69] A

68 =8 EX tECaz=7ELESST | &| 6 [80H 13.28] A [100m:B.HJ:A

69| 4 2K tEDa=F7EEESST L] 5 [HJ 120 A

70 fRiZ BE¥ tECazZ7ELESST (k| 6 |LJ 445 A

THEHE FiE EECAZT7ELESST (L] 6 |LJ 449 A [100m:B

7213/ —F Dz A | FHETHER %] 5 [100 13.99] A

13|k KB I ES Z| 6 [100 13.79] A

74458 tHE IEETHED %] 6 [100 13.87| A [80H:B.LJ:B
REEIIES T E Z| 6 [100 1395 A

76| ER B AEHTC %] 6 [100 1418] B

77| LU BEZR AEBATC %] 6 [100 1442] B

8=k EA EmMoa=7EESST (& 5 100 1405 A

19 EHM A EMCaZ7EESST & 5 600 156.39] B |[F¥L2THyT6fI:B
80 A% LOF EmPa=7HELESST | &| 6 600 14706 A |[FyL2TPhyT14L
81|NME 1It% EmCa=7RELESST (& 5 |HJ 115 B

82| #ik A EMoa=7EESST (K| 5 |HJ 1.15] B

83| A %A KEFvX %Z| 6 [100 1442] B

84| &F ER Kmo57 | 6 [100 13.84] A

85 K% B LpELE %Z| 6 |100 14.16] B

86| K& #* BEkEEE | 6 [100 1440] B

87|87 & BMLEE %] 6 [600 1.50.02| B |FyvL>2ThyI561
88|&F BE J\EEEHSD %| 6 [100 1401] A

89/NEME TEXR INEREEDSD %Z| 6 |100 1431] B

0 =R HE BEREL %] 5 [1000 32170 A

91 B0 =3 aAHIST %Z| 6 |100 1434] B

92 HFEF tath ELwEA B[ 5 [600 14921 A [FrLIPhyT 3
93|/M bk FIZE KJM. RC B| 5 [1000 3.1299] A

94| FHE fAA KJM. RC 8| 5 |1000 32068 B

95| F % fth KJM. RC Bl 6 [1000 3.0573] A

9% |FEE M KJM. RC B| 6 |1000 3.10.18| B |F¥L2PHvyT8fi:B
07 i H ERL RUN. jp Bl 5 [100 1396/ B

98 =it fEXEA RUN. jp Bl 6 |100 13.33] B

9B E 15X RUN. jp Bl 6 [1000 31449 B

100/ 4;R $RifE RUNRUN Bl 6 [600 14269 A |Fv¥L>SHyT34i, 1000m:B
101 KA Ff&# RUNRUN B 5 [1000 3.23.66| B

102|{FE H&F RUNRUN B| 6 [1000 3.07.26] A

103|4iR #R; RUNRUN Bl 6 [1000 3.11.27] B |[FyLoTHYT3hi:A
104|1EBk Kith ARETC Bl 6 |LJ 473| B

105|A@A BZE NP B| 5 |100 13.78] A

106 dtF% =6 NPl Bl 6 [100 13.20] B

107 R JuhE NP B| 6 |80H 1342] B

108|173 ZEHUN | KmMH5T B| 6 |80H 1344] B

109;TE RE Kmo>7 B| 6 |80H 1350/ B

1108 A& KEFvX Bl 5 100 1423] B

1M1EH & RKEFXFvX Bl 6 [100 13.09] B

112|0 % MEBED2=T 2| 6 |1000 30792 A |FxLITPHhyT26i:A
13| K3 &3 AEEE B 6 |HJ 1.38) A

114 /D & BEER 2| 5 |1000 32183 B

115|F)l —F REEHS1=7 Bl 6 [1000 30583 A |[FxLUPHYT16L:A
11643 2LXK LolIEEEESST (B 6 100 1295 B

117| K8 EAXER LolIEEEESST |B| 5 1000 3.1436] A

118/ 5 —0E LolIEEpEESST |[B| 5 1000 3.16.26] A

119[/ME B4 LollFEEESST B 5 1000 31771 A [FxLIPHhyT26I:A
1200 58 &%) LolIEEpEESST [R5 1000 3.1966] A |FxLTHyI1Hi:B
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121|##H #E LolldeEEESST B 5 1000 3.2048) B |FxLTHyT4hi:B
122 55 X LolIEEEESST |B| 5 1000 32405 B

1238 #&1= LolldeEEESST B 6 1000 3.14.00| B

124 /hith £X LolIEEREESST |B| 5 |80H 1456] B

125| K& EAER LolldeEEESST (B 5 |LJ 413] B |EmEmskmEmE mGEERRs)
126 K& &4 FLRESEKR B| 5 [1000 3.25.10] B

127 518 FLIE AR EFR B 5 [1000 32565 B

128 |ikI%G 5 TR EFH B| 6 |100 1277 A |LJ:A.JBT:B

129\ BkHE iFE FEF/I B| 5 [100 1411] B

130 =I5 B EHERYLZT B 5 |HJ 120] B

1318 BX 274 B 5 1000 3.16.20 A

132/ &5H 54 Z7ARI#E 8| 5 |600 15280 B |[FyL2TPAhvyT 8
133;ZH R&H 274 B 6 |600 148.76| B |F¥LPHhyI5Mu
134|315 55 T7ARI#E 8| 5 |1000 30995 A

13518 s 274 B 5 1000 3.16.92] A

136 EF 74 8| 6 |1000 25722 A

137\ %% E1E 274 2| 6 [1000 3.0359] A

138 @A BE 74N Bl 6 [1000 30478 A |HJ:B

13938 FE—ER 7RI %] 6 [1000 3.0697| A

140 §F B 74 5| 6 [1000 3.07.70] A

141|FF = 274 2| 6 [1000 311.38] B

142 HE B4 TS5FFAC 5| 6 [1000 3.13.66] B

143 =8 BX =957 Bl 6 |LJ 490 A

144 EA) 2B mAES21=7F 8| 6 |100 13.01] B

14588 K K5 BT Bl 6 |80H 1264] A [100m:B.HJ:A
146 {Fi& B EWAC Bl 6 |100 1328/ B

147 1K BEiE EHAC Bl 5 [1000 3.12.28] A

148 5@ t£2 EIEIR 8| 6 |100 13.30, B

149|251 fFIFE AE R B 5 [100 1409] B

150 Nk RE2 AERAE B 6 |600 14926| B |[F¥LrPHhyIMu
151113 X AERFEE B| 6 |1000 31495/ B

152| F|4R )1 %‘EE F B/ 8| 6 |80H 13.19] B

153 | FRJI| &4 BEED Z| 5 1000 31539 A |[FrLITPHYTL:A
154 A ﬂ]& = Pl Bl 5 [100 13.36] A

155 7iF ER =Pl Bl 5 [100 1406| B

156 /Mis B= = Pl Bl 6 [100 13.09] B

157| &5 H ?EE = rl E] 6 |HJ 135 A

158 ﬁ.ﬁ &3l AR EER 8| 6 |100 13.03) B

159 | &2 %iﬁ AR EFR B| 6 |1000 3.09.84] A

160 ¥t ZERE AR EER 8| 6 |LJ 480 A

161 S BE LEEH/N E] 6 [1000 3.10.10| B

162/ EXR X FECaz=7EESST |B| 5 [100 1416] B

163 #tH R1E FECazZ7ELESST | B 5 600 15145 B |F¥LPhyT:6fr
164 KH Hif FECa=7EEHSST |BE| 6 [1000 308.85| A |80H:A.600m:B
165|NA Elth tEDCa=FELESST|B| 5 |HJ 120 B

16608 B tECAZT7ELEIST | B 6 HJ 131 B

16721 fin TECazZTFEESST | B| 5 |LJ 411 B |mEm@immEGaEanns)
168| EXR FX FTECa=7EEHSST | B| 5 |LJ 410] B |EfnsikEmEs(ETins)
169 YEH =XEA JI| O =HT/N B[] 5 [1000 32217| B

170 Bl K EmPa=7EEESST B 6 600 149.04] B |FyL2ThyT6fi
171 b1 XXFE BEMCa=7REESST | B| 5 [1000 3.06.49] A

172);%FF w3} EmMoa=7EESST B 5 1000 32459 B

17384 2K Emoa=7EESST B 6 1000 30701 A

174 R EXK EMPaZ7EEESST B 6 [1000 3.12.50| B

175 E15 #h FER/ E] 5 [600 1.50.74] B |[FxL2TPhyT 50
176 &% Fik BlREL BE| 5 1000 3.18.38] A

177 70f% 1DBEE fEEEL Bl 6 [1000 3.08.36] A

17818k FNE EHERS 1T Bl 5 1100 1400 B




